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1. — Rt RREKRE

(1) MATEREE 6348680 (6] 6,1451,%‘\F:_|—| - LB +203(8F1 +3.3%)
F6XLUMFEE UTRL)

(E84i7 : f8F)

mAEH a7 $6 1BRER R
=Rt X 1,950 1,793 + 157 + 8.8%
A EEREES 722 669 +53 +7.99%
AR EREFMBOURES D) X 1,360 1,340 + 20 + 1.5%
HA SR X 303 276 + 271 +9.7%
HAREBI TS X 1 49 A 38| A T8.4%
RBRZEMNERFRRAE X 3 3 A0 A30%
EEREE 696 634 +62] +9.9%
BAS 213 258 A4S AI1T.1%
HEAEES a SiiRE 132 A 132 -5
BE (ERIFIBONRERR<) 575 578 A3 A0.6%
TESERERE b SigtasT 50 A 50 - %
Z0tth 515 545 A30| A56%
S - iEHE 4 4 + 0| + 12.6%
HEERUVEEE 52 13 + 30|+ 284.6 %
ERNROERE 80 80 A0 A0.3%
BAEEUN A 10 8 + 2| + 26.3%
ETLON 369 440 ATl A16.2%
& &t 6, 348 6,145 + 203 + 3.3%
BREZEE  (ath) SigtasT 182
& 5t BhEEEEn @D 6,348 5,963 + 385 + 6.5%
—IREAEMEE X 3,627 3,461 + 166] + 4.8%
N—IRENEAEE LR, AR RRMBNERESD) . BARSH. BARIIRHE. BREE
BRI ENDAEE

E) AR (ERRMBNRES ) (COVTIE, 5% BHSRINSBHRFICEIESBAEZITOLN.
RESEHTDHENHYET,

(2) BRETERBEERE 6,491/ (6] 6, 145(8M - tE& +346/8M +5.6%)
(84 : 89)

L= w7 56 1B RER IBRER
NG 1,759 1,733 + 26| + 1.5%
HRENE 732 687 + 45 + 6.6%
N 722 743 A2l A2.8%
B 1,016 920 + 96| + 10.4%
Z0th 2,262 2,062 + 200 + 9.7%
& &t @ 6,491 6,145 + 346] + 5.6 %

@-O :mA - mBIRZER  143EM
Sk TERBOBREICSVT, mEBEZTOEEEIC. MBGREBEEEOIRER U P EED
FITRENICEY, @& ET,



(3) RIEEREDMERBIAER
(BT - HAM - %)

X N BT FE Pl 6 FETEER SHRIFEELEER B
RIEREREN) | HTEE®B) | RAFEHEO | A/B| A/C

m =2 N = 3,253 3,004 3,746 108.3 86.9

w A& & B & 12,832 17,214 18,378 74.5 69.8
wom M F 17,472 16, 781 17,865 104.1 97.8

| X1 X K —"Y & 22,637 13, 547 13,610 167.1 166.3
EE MR IR & 17,532 17, 362 17,759  101.0 98.7

Bl RRER®SULE 94, 804 92,279 93,454 102.7( 101.4
FEEHEEHEE 31,565 30, 466 30,595 103.6] 103.2

B BIBXLHBERE 38,967 36, 141 36,440{ 107.8{ 106.9
R B K E & 23,000 18,453 23,540 124.6 97.17
Rl A X & & 64, 678 63, 489 86,523| 101.9 74.8
2 8 KX 35, 304 32,905 33,708] 107.3] 104.7
RIBL B £ 8 = 137,701 128, 438 134,757 107.2[ 102.2
A & =1 72,318 74,373 74,373 97.2 97.2

E - 76, 955 69,918 69,918 110.7f 110.1

i (] =4 130 130 130 100.0{ 100.0
A B 649, 148 614, 500 654,796 105.6 99.1
A a5 =1 175, 951 173, 324 177,676]  101.5 99.0
*® Bh =1 73,169 68, 665 68,605 106.6[ 106.6

Bl A & =1 12,230 74,275 74,275 97.2 97.2
® B N R & 101, 609 92, 027 122,423 110.4 83.0

Bl £ D fth 226, 189 206, 209 211, 7571 109.7)  106.8




2. RISt (1085 REZERE 2,287EM (6] 2,3518M - L& A6MEM A2.7%)
(B4I: BAM - %)

a7 26 SRR
254 SEERE| WAt | ST EE| BETER

»| somAas ®) o] A B AC
TR EEEMES 226 - 2217 2217 99.7 99.7
BT AT BRI AR 269 . 304 304|883 85.3
RN PETIEESEEMNEE 565 - 1,344 1,344 42.0 42.0
ME - ARMEENEETENEE 244 - 208 208 117.3[ 117.3
A RENEAS AR 53 0 52 520 100.6] 100.6
NEEE 110, 294 72,230 115,127 115,127 95.8 95.8
ERERRREE 113, 653 7,045 114, 676 114,679 99.1 99.1
T ERIS RS 511 - 643 643 79.5 79.5
e E 743 - 723 7231 102.8] 102.7
UN A G 2,113 - 1,812 1,812 116.6f 116.6
a E 228,671 79,279 235,116 235,119 97.3 97.3

3. f5x=5E (535 RIREKRER
(1) IRmBYszH RIEEOKER 1, 27568 (6] 1,22148M - L& +548F +4.4%)

(2) BAMZH REERE 3056 (6] 289fEM - L + 168 +5.6%)
(B : 8AM - %)
&7 56 SEIERELLE

254 BREERE) LA FEE(B) A/B
IRzt | BEAM | iRm0 | EAm | Inest | @A
E—9—R—bERESHE 70, 182 993 66,977 815 104.8| 121.8
EERRIE TKEESE 21,652 19, 755 21,316 17,406 101.6] 113.5
e e 29, 680 4,570 27,776 7,002] 106.9 65. 3
THERKBEEZE 1,013 1,831 1,039 1,098 97.5[ 166.8
IERKEIRESE 4,989 3,330 4,991 2,541 100.0] 131.1
a B 127,516 30,479 122,099 28,862| 104.4) 105.6




